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Relacao do aco

V1 V2 V3
V4 V5 V6
V7 V8
ACO N DIAM QUANT UNIT C.TOTAL
(mm) (Barras) (cm) (cm)
CA60 1 5.0 439 108 47412
CA50 2 6.3 2 201 402
3 6.3 2 272 544
4 6.3 3| 307 921
5 6.3 4 180 720
6 6.3 2 160 320
7 6.3 1 168 168
8 6.3 2| 958 1916
9 6.3 2 188 376
10 6.3 2| 328 656
11 6.3 2 74 148
12 6.3 1 202 202
13 6.3 1 209 209
14 6.3 2 634 1268
15 6.3 6 662 3972
16 6.3 2 150 300
17 6.3 5 155 775
18 6.3 2| 894 1788
19 6.3 1 167 167
20 6.3 2| 1050 2100
21 6.3 1 153 153
22 6.3 1 172 172
23 6.3 2 935 1870
24 6.3 2| 204 588
25 6.3 1 1167 1167
26 6.3 1 158 158
27 6.3 3 140 420
28 6.3 1 443 443
29 6.3 1 687 687
30 6.3 4| 1199 4796
31 6.3 4 1200 4800
32 6.3 2| 915 1830
33 6.3 2 106 212
34 6.3 3 130 390
35 6.3 1 182 182
36 6.3 1 185 185
37 6.3 2 1181 2362
38 6.3 1 92 92
39 6.3 1 203 203
40 6.3 2 1074 2148
41 6.3 1 207 207
42 6.3 1 116 116
43 6.3 2 951 1902
44 6.3 1 102 102
45 6.3 1 135 135
46 6.3 1) 347 347
47 6.3 1 190 190
48 6.3 1 110 110
49 6.3 1 582 582
50 6.3 2| 923 1846
51 6.3 2 178 356
52 6.3 2 627 1254
53 6.3 1 145 145
54 6.3 2| 316 632
55 6.3 1 288 288
56 6.3 1 67 67
57 6.3 2 425 850
58 6.3 3| 454 1362
59 8.0 2 1196 2392
60 8.0 2 187 374
61 8.0 2 309 618
62 8.0 1 140 140
63 8.0 2 667 1334
Resumo do aco
ACO DIAM C.TOTAL PESO + 10 %
(mm) (m) (kg)
CA50 6.3 503.1 135.4
8.0 48.6 21.1
CA60 5.0 474.2 80.4
PESO TOTAL
(kg)
CA50 156.5
CA60 80.4

Volume de concreto (C-30) = 5.76 m®

Area de forma = 96.61 m2
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Resumo do aco
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1N9 06.3 C=74 1N9 06.3 C=74 (mm) m (ko)
49 |19 900 &= 265 = CA50 6.3 80.8 21.7
1" 11 0= g " 8.0 13.4 5.8
1N226.3 C=180 1N3 6.3 C=138 1N5 6.3 C=273 26.3 C=67 : : :
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: : 1 N10 26.3 C=261 30 1N11 26.3 C=291 (kg)
81 mww 18
2N12 26.3 C=640 CA50 27.5
CA60 12.8
AREA:
Volume de concreto (C-30) = 0.93 m*
Area de forma = 15.64 m2
201.91 m?
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